CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges	. See Invoice for actual schedule and charges.						
r 20 20	hereby request station time as follows:						
IDEIGIT CANDIDATE TYPE	ERAL CANDIDATE E OR LOCAL CANDIDATE						
ALL QUESTIONS/BLOCK	(S MUST BE COMPLETED						
Candidate name: Margaret C. Campos							
Authorized committee: MargaretforNM							
Agency requesting time (and contact information):							
Candidate's political party: Democrat							
Office sought (no acronyms or abbreviations): NM State	Representative						
Date of election: 06-04-2024	General X Primary						
Treasurer of candidate's authorized committee:							
The undersigned represents that:							
(1) the payment for the broadcast time requested has been ful	mished by (check one box below):						
The candidate listed above who is a legally qualified car	ndidate, or						
the authorized committee of the legally qualified candi	date listed above;						
(2) this station is authorized to announce the time as paid for b							
(3) this station has disclosed its political advertising policies, inc	duding applicable classes and rates discount promotion						
and other sales practices (not applicable to federal candidates). THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.							
Candidate/Committee/Agency	Station Representative						
Signature WC Clup 07	Signature:						
Name: Margaret C. Campos	Name: falen Jostino						
Date of Request to Purchase Ad Time: 05/14/2024	Date of Station Agreement to Sell Time: S/14/1-4						

The undersig to an opposir for a duration the candidate broadcast or	of at least four seconds approved the broadca fradio programming, o	nt the broadcast matter to be aired pursues, (2) contains a dearly identifiable photos and a simultaneously displayed printed ast and that the candidate and/or the can	ant to this disclosure either (1) does not refer ograph or similar image of the candidate statement identifying the candidate, that didate's authorized committee paid for the candidate that identifies the candidate,
Candidate/	Authorized Committe	ee/Agency	The second secon
Signature	IC Confr	TO BE COMPLETED BY STATION	
Name:	WARGARE	ET (. (Ampos	
Date: 5-	14-2024		
		TO DE COMILETED BY STATIO	IN CIVET
Ad submitted	to Station?	Yes No Date ad rece	ived: 5/14/24
Note: Must h	nave separate PB-19 I	Forms for each version of the ad (i.e.,	for every ad with differing copy).
Federal candid	ate certification signed	d (above): Yes N	N/A
-		opy not yet received to determine spons	sor ID)*
*Upload partia	ly accepted form, then	promptly upload updated final form wh	en complete.
Date and natu	re of follow-ups, if any (e.g., insufficient sponsor ID tag):	
Contract #:	1129	Station Call Letters: KTAU	Date Received/Requested:
Est. #:		Station Location: TAOS, NM	Run Start and End Dates:
use this space t purchased or a	to document schedule of ttach separately. If station	of time purchased, when spots actually ai on will not upload the actual times spots	ents reflecting this transaction to the OPIF or ired, the rates charged and the classes of time aired until an invoice is generated, the name laced in the "Terms and Disclosures" folder in



KTAO 101.9 FM PO BOX 1844 TAOS, NEW MEXICO 87571

575.758.5826 PHONE

Client	MARGARET CECI	3		1			oulihan							
Agency		Star	t Date	5/1	4/20	24	End Date	5/22/	2024					
Product	"State Representa	tive DIS	TRICT 41	L"			Cast	1	Yes					
Address	PO Box 516						Billi	ng:	Adv	ance	ed			
City	Dixon	State	NM	Zip	875	27	Prep	pay	Yes	Pleas	е			
Phone	(505) 927-8701	Contact	MARGAR	ET CECIL	IA CA	MPC	Age	ncy Co	m			%Affidav	it Requi	red
Email	margaret@mcan	nposdis	rict41.o	rg 🔻			Co-c	p Scr	ipt		Nota	ry of Scrip	t Requir	ed
KTA	O 101.9FM #1	for 3	years	, The	bigg	gesi	si	gna	lin	Nor	the	rn Ne	w Me	xico
Station	AUDIO GOS ES SESSO SESSO SESSOS	Days	Part	Type	M	I	W	Th	E	Sat	Sun	Weekly	Rate	CPW
KTAO	5/14-5/17/24	M-F	9-11A	:30	T	1	1	1	1			4	\$28	\$112
KTAO	5/14-5/17/24	M-F	12-4P	:30		2	2	2	2			8	\$28	\$224
KTAO	5/14-5/17/24	M-F	5-7p	:30		1	1	1	1			4	\$28	\$112
	5/20-5/22/24	M-F	9-11A	:30	1	1	1		İ			3	\$28	\$84
KTAO				-	-		2	<u> </u>	1			6	\$28	\$168
KTAO KTAO	5/20-5/22/24	M-F	12-4P	:30	2	2	1 4	1	1	1	1	1		Commission
	5/20-5/22/24	M-F	12-4P 5-7p	:30	1	1	1					3	\$28	\$84

INVESTMENT (7 DAYS)		28 Spots ed Sales
KTAO Spot Package	\$784	up dato
Sales Tax 7%	\$55	
Grand Total	\$839	() (
Authorized Signature N	ARGARET CE	CILIA CAMPOS Date
Authorized/Signature - I	KTAOS/KLNN	5/14/07 Date

TAOS COMMUNICATION CORP 9 STATE RD 150 TAOS NM 87571 575-758-5826

Terminal ID: **** 284

2:47 PM

5/14/24 VISA - MANUAL

ACCT #: ***********6644 CREDIT SALE

UID: 413577118413 REF #: 1690

BATCH #: 724 AUTH #: 854308

TANDOMA

\$839.00

APPROVED CUSTOMER COPY

3c	×			
			ÿ	

Date: 5/14/24

Sales Order

Station:	KTAO-FM			Buyer:				
		0.5.14.24		Tax Schedule:	NM GRT	7.1.23		
Contract#:			1129					
Start Date:	5/14/24	End Date:	5/22/24	Billing Cycle: Calendar				
				Salesperson: 4652AHOUL				
		ampos		Makegood Policy: Within Contract Dates				
Address:	PO Box 516							
City:	Dixon	State: NM	**************					
		Zip:						
Product Na	me: STATE REF	RESENTATIVE D	IST					
Competitive	Code: Political	& Government						
	e Code: Political d	s Government						

No DATES Alt START END wks	DATES Alt TIMES					DISTRIBUTION						ION				TOTALS			
	140	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$
1	5/15/24	5/17/24		9:00 AM	11:00 AM	30			2	1	1			4	D	28.00	4	112.00	5
2	5/14/24	5/17/24		12:00 PM	4:00 PM	30		1	3	2	2			8	D	28.00	8	224.00	5
3	5/14/24	5/17/24		5:00 PM	7:00 PM	30		1	1	1	1			4	D	28.00	4	112.00	5
4	5/20/24	5/22/24		9:00 AM	11:00 AM	30	2	1	1					4	D	28.00	4	112.00	5
5	5/20/24	5/22/24		12:00 PM	4:00 PM	30	2	2	2					6	D	28.00	6	168.00	5
6	5/20/24	5/22/24		5:00 PM	7:00 PM	30	1	2	2					5	D	28.00	5	140.00	5

May 24	
CA 868.00	
ST 868.00	
✓ Print Spot Prices TOTAL SPOTS	31
GROSS TOTAL \$	868.00
ADJUSTED SPOTS	31
ADJUSTED TOTAL \$	868.00
APPROVE DECLINE	
General Manager	
Sales Manager	
National Sales Manager	
C Local Sales Manager	

×			